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ANTHROPOLOGY
Paper — 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

1. Genetic drift is likely to occur in
(1) Plant population (2) Small population
(3) Large population (4) Hybrid population

2. Karyotype of a Turner syndrome is
(1) 47, XXY (2) 47, XYY
(3) 45,X0 (4) 45,Y0

3. What are the molecular scissors in genetic engineering ?
(1) RNA polymerases (2) Taqg polymerases

(3) Endonucleases (4) Hexokinases

4.  The sudden reappearance of ancestral traits in an organism which do not occur normally is

called
(1) Disequilibrium (2) Atavism
(3) Mutation (4) Genetic drift

5.  The process of genetic counseling comprises
(1) Diagnosis and cause of disease
(2) Determining the risk of recurrence of disease
(3) Options available for prevention
(4) All of these

6.  The phenotypic ratio in a dihybrid cross is
1) 1:3:3:9 2 1:2:2:1
3 9:3:3:1 4 1:2:1:2

7. Which one of the following is not a sex-linked trait in humans ?
(1) Haemophilia (2) Colour blindness
(3) G-6-PD deficiency (4) Sickle cell anaemia

8. Name the German diffusionist among the following :
(1) Franz Boas (2) W.H.R. Rivers
(3) F. Graebner (4) Leslie White
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g - |11

THE9 : =0 TRT § U (75) S-fahedid YR € | Uk U9 % &t (2) 3Tk € | |t ue Siard € |

1.

AT foraem Fefofad o 9 fraw afed g i Sy g & 2
(1) UIRY SHEET (WA Tgerer) (2) g SHEET
(3) former ST (4) T STEE

X FR10T (Fagi) T TURIANEY (FTTSTET) Bl &
(1) 47, XXY 2) 47, XYY
(3) 45, XO (4) 45,YO

TR iRt | SMuiferss ezt T et € ?
(1) SRTAT. TS (2) 3 UieHSST
(3) USHFITSST (4) THATHITE

ToRell STrar & 31 QST U1 o ST UH: Wehe & ol 3T Shel STl &, ST WTHr: Sied =@l aid § ?
(1) Ggem-im g (femeaffsam) (2) gesTT
(3) SRS (FFEIH) (4) AR faeem

ST EITRTe TRTHST Wisha | SNt &

(1) = ud SHERE S HRoT

(2) R GG % SHRET i R e
(3) Uk F feTT SuCTey faehed

(4) ST &

ferdlt feerefore shig o Heredr U (FiTereltes Y &
1 1:3:3:9 2 1:2:2:1
3 9:3:3:1 4 1:2:1:2

qHa § =t § 9 9 91 T o7 ggor= T8l € 2

(1) EHwITerar (2) TI-3FErET

(3) ST-6-dT.Er. Hr HH (4) T IR SR (FFehet et THITHE)
= § 9 ST TRaE B E 2

(1) I SreT (2) T=YULIR. T

(3) UE IFER (4) I TR
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10.

11.

12.

13.

14.

15.

16.

17.

A childbirth custom in which the father of the child behaves as though he were giving
birth is known as

(1) Creation myth (2) Couvade
(3) Fictive Kin (4) Rite of passage

The terms ‘emic’ and “etic’ in anthropology have been introduced by
(1) Codrington (2) Evans Pritchard
(3) A.C.Haddon (4) Kenneth Pike

The concept that the other’s culture should be studied in their perspective, not one’s own
(investigator’s)

(1) Cultural materialism (2) Cultural relativism

(3) Culturology (4) Culture core

In which year Government of India proposed to rename primitive tribal groups as
particularly vulnerable tribal groups ?

(1) 2010 (2) 2006
(3) 2008 (4) 2015

The term “Scheduled Tribes’ was inserted in the Constitution vide
(1) Article 342(i) (2) Article 330
(3) Article 244(i) (4) Article 366

Method of comparative cultural study that extrapolates to the past from recent or current
societies is known as

(1) Ethnographic analogy (2) Ethnography
(3) Ethnology (4) Ethnogenesis

Which one of the following time period is correct for human migration in the new world ?
(1) 10,000 years onwards (2) 30,000 years onwards
(3) 50,000 years onwards (4) 1,00,000 years onwards

Which of the following is not a feature of Neolithic culture ?
(1) Sedentary village community (2) Domestication of fire
(3) Domestication of plants (4) Domestication of animals

Which of the following tribes does not practice megalithic burial presently ?
(1) Khasi (2) Santal
(3) Ho (4) Bhumij
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10.

11.

12.

13.

14.

15.

16.

17.

Te & S 9 Gatd T v fSeE e o1 U O SHeer’ Al &, JH1 Rl S &l ST 2 @l
l

(1) Topuem f () F

(3) Twiea (4) TR IAE TESA
TR W ‘T’ 3R ‘Ufesh’ UsTaelt fohdeh §RT Ufduiied sl T2t 2
(1) =reRime (2) taru-fEre

(3) TH. T=A (4) ¥ UEH

T D TR HT 3TeAIT ITb ST ¥ AT MG, SFTHEHRAT o 3O TR & Fal — 39
TN i T el & 2

(1) HiEpaH wifdewams (2) WIS AT

(3) TEHHT fomtr (4) P TR

9 I H 9RT TER 7 ST ST THET AT T5671 Y 3H [T SRIT ST T
feam 2

(1) 2010 (2) 2006

(3) 2008 (4) 2015

Tl ¥ * STIgfad SHSa’ ¥eE fhE 38T o HIEAH § Wi gat 2
(1) 3T=% 342(i) (2) 3= 330
(3) 3T 244(i) (4) 3= 366

oI FRpideh 3TE Dl T8 UG ST adH= U i 3% STdId ¥ S Y @M ST &,
3 AT e A ¢ 2

(1) o= %A (2) onfa FuE

(3) ST (4) oM ST

e §RT U TOR & AR & 98y ¥ 1 § & i |1 0 el @l & 2
(1) 10,000 @Tet & S (2) 30,000 @A &

(3) 50,000 TTet & ST (4) 1,00,000 91T F 3T

91 & @ I T qToUT S i eI e € ?

(1) TIHEE AT TR (2) ST I TR ST
(3) URH FI B FAAT (4) UEIS F B T
1 & & BF I ST JeguTSToT FHIY B For 3T Té HA ?

(1) @ (2) e

3 = (4) ufest

J-07-16 5 Paper-I111



18.

19.

20.

21.

Which of the following have coexisted with modern Homo sapiens ? Use the given codes :
(@ Homo habilis

(b) Homo florensis

(c) Homo erectus

(d) Homo neanderthalensis

Codes :

(1) (b)and (d)

(2) (a), (b)and (c)

(3) (c)and (d)

(4)  (b), (c) and (d)

Identify the defining features of DNA fingerprinting use the codes given :

(@) itis used for personal identification.

(b) DNA fingerprinting uses a specific type of DNA sequence known as microsatellites.
(c) Itwas invented by Kary Mullis.

(d) Itisthe best technique to solve cases of disputed parentage.

Codes :

(1) (a), (b) and (d)

(2) (a), (c) and (d)

() (b), (c) and (d)

(4) (a), (), (c) and (d)

Which of the following is true of the high altitude adaptation process ? Use the given
codes :

(@) We breathe rapidly.

(b)  Our heart beats faster.

(c) Our Vitamin C level rises.
(d) We suffer from hypoxia.

Codes :
(1) (a), (b) and (c) (2) (c)and (d)
(3) (@), (b) and (d) (4) (b), (c) and (d)

The process of humanization involved : (Use the given codes)
(@) Erect posture and bipedalism

(b) Lighter skin colour

(c) Increase in stature and reduction in teeth size

(d) Increase in cranial capacity

Codes :
(1) (a), (c) and (d) (2) (b), (c) and (d)
(3) (a), (b) and (c) (4) (a), (b) and (d)
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18. Tr=feifad o ¥ e emyfes et Afveg & W19 Ge-Tiaed el & 2 A9 ST 7T %e 1w
HIT

(@)
(b)
(©)
(d)
HT
(1)
()
©)
(4)

19. EiE.
HifTT

(@)
(b)

(©)
(d)
FE:
1)
2
3)
(4)

g gfafera

T TR
Tl TR
el ety

(b) 3T (d)
(a), (b) ¥R (c)
(c) 3 (d)
(b), (c) 3 (d)

T TR et i aReIiad s arctt faeiearsti s 9gae e | A KT 7T e & uanm

THHT SATFIIT T & [T ST T a1 € |

YT, mR et § ST w7 & Ut G R o1 SuanT fHar Sar €, e
HIEhIERTTEed o ¥ H ST ST ¢ |

THHT K TolioT = Th fopam o |

T ferantad fugea & A & GHTET S HIS THAD ¢ |

(a), (b) 3T (d)
(a), (c) 3R (d)
(b), (c) 3 (d)
(a), (b), (c) 31 (d)

20. STF QAT SFH UishAT % 9N H fEfGiEd | A 91 W& € ? e KT T $e 1 uET SHifeTe

(a)
(b)
(©)
(d)
o
1)
(3)

T O | G eAd & |

BRI g5 AR sl § gghar & |

AN oo & T St ¢ |

&0 TeuAREdT (Brgdifean) | difgd g € |

(a), (b) 3 (c) (2) (c) #T(d)
(a), (b) 31 (d) 4) (), () 3 (d)

21.  HHEHIOT UfHAT | -7 e € 2 A ST T e 1 TR

(@)
(b)
(©
(d)
FE :
@
3)
J-07-16

et 5T § WET e AR fEaereEar
T T AT g I

%5 H gy X Iiat & SR H BT
HUTA &7 | g

(2), (c) ¥R (d) 2 (), (c) X (d)
(a), (b) ¥R (c) 4) (a), (b) 3R (d)
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22.  Which one of the following is true about our core understanding of biological variation in man ?
Use the given codes :

(@) There is substantial variation among individuals within populations.
(b) Some biological variation is divided up between individuals in different populations.
(c) Race is an accurate or productive way to describe human biological variation.

(d) Patterns of within-and between-group variation have been substantially shaped by
culture, language, ecology and geography.

() Human variation research has important social, biomedical and forensic

implications.
Codes :
(1) (@), (b), (c) and (d) (2) (b). (c), (d) and (e)
(3) (@), (b), (d) and (e) (4) (c), (d) and (e)

23. Theories relating to social structure have been given by
(@ Radcliffe-Brown
(b) Evans-Pritchard
(c) Edmund leach
(d) Brownislaw Malinowski

Codes :
(1) (a), (b) and (c) are correct. (2) Four (a), (b), (c) and (d) are correct.
(3) (a), (b) and (d) are correct. (4) (a) and (d) are correct.

24.  Which of the following are polyandrous societies ? Use the codes given below :
(@ Khasa
(b) Toda
() Kinnaurese
(d) Ejhavas
Codes :
(1) only (a) and (b) are correct. (2) only (c) and (d) are correct.
(3) (a), (b), (c) and (d) are correct. (4) only (a) and (d) are correct.

25.  Which of the following Commission(s) is/are set up by the President of India ? use codes
given below :

(@ National Commission for backward classes

(b) Scheduled areas and scheduled tribes commission

(c) Commission for scheduled castes and scheduled tribes
(d) Task force on development of tribal areas

Codes :
(1) (a), (b), (c) and (d) are correct. (2) (b), (c) and (d) are correct.
(3) (), (b) and (c) are correct. (4) (a), (c) and (d) are correct.
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22.

23.

24,

25.

T § S R S gART gt e % SN H feliEd o | B T ¢ 2 e T T e o s

T

(8) SHEE % iR AT & e JR =TT & ¢ |

(b) T STEE | Al o S $ Siiaeh =TT i e fohar Sar e |

(c) eTIfa A Ak T=Tar T Sui 3 ol Ueh |l AT IcATRT TR & |

(d) m,w,mﬁﬁmﬁﬁwwmw@u@%ﬁwaﬁ?%ﬁmww
|

(e) TG fTaT 3 & HewaguT ATHITh, Siamfeshet 31X BRI U9 &id ¢ |

% :

1) (a), (b), (c) & (d) 2 (), (), (d) 3 (e)

3) (), (b), (d) 3R (e) 4 (c), (d) 3R (e)

=1 7 @ Tt feorgmit = |rfoTes T @ Heitud fagia uiqmisd fu & 2

(a) YsTrim-sTe

(b) zaTo-frETe

(c) ueHs AN

(d) sTStEeTE AfeTeh

%

(1) (a), (b) 3R (c) WEIE | ) (a), (b), (c) 3R (d) 7R TN & |

(3) (a), (b) 3R (d) WEE | (4) (a) 30X (d) W E |

1 & | & Sgufaet arel 99T T8l § 2 A 52 T e 1 AT i

(@ @

(b) e

(c) TH=Rt

(d) usE™

% :

(1) % (a) 3T (b) WETE | (2) fa% () 3T (d) W& |

(3)  (a), (b), (c) 3 (d) T T | (4) TaF (a) 31X (d) T E |

=1 | & BB T TERT BT TS TR BN LA BT & 2 - f§T T e T 7=
(a) T U o S

(b)  SFTEI &0 T SRR SISt ST

(c) ergfed sia vd g st S

(d) 3Tfcardr &=t % o | F 3o

HT
D) (@), (), (c) 7= (d) H%Qf% ! (2) (b), (c) T (d) WA E |
(3)  (a), (b) T (c) WETE | 4) (a), (c) T (d) WETE |
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26.

27.

28.

29.

30.

Which of the following books are written by M.N. Srinivas ? Use the codes given below :
(@ Marriage and family in Mysore

(b) Religion and society among the Coorgs of South India

(c) Nation-building in Independent India

(d) Culture and society in India

Codes :
(1) (a), (b) and (c) are correct. (2) (a), (b), (c) and (d) are correct.
(3) (a), (b) and (d) are correct. (4) (a), (c) and (d) are correct.

Which of the following are ways of acquiring mates in tribal societies ? Use codes given
below :

(@ Marriage by capture (b) Marriage by intrusion

(c) Marriage by service (d) Marriage by elopement

Codes :

(1) only (a) and (b) are correct. (2) only (a), (b) and (c) are correct .

(3) (a), (b), (c) and (d) are correct. (4) only (a) and (d) are correct.

Find out the correct answers for methods of exploration of prehistoric sites. Use codes :
(@) Consultation of toposheet

(b) Reconnaissance by foot

(c) Laying down grids

(d) Treat digging

Codes :
(1) (), (b) and (c) are correct. (2) (b), (c) and (d) are correct.
(3) (), (c) and (d) are correct. (4) (a), (d) and (b) are correct.

Find out the correct criteria for civilization in Archaeological Anthropology. Use codes :
(@ Construction of monumental building

(b) Development of script

(c) Use of stone tools

(d) Burial off dead

Codes :
(1) (a) and (b) are correct. (2) (c) and (d) are correct.
(3) (a)and (c) are correct. (4) (a) and (d) are correct.

Find the correct answers for the methods for typological classification of tools. Use codes :

(@ Drawing and description (b) Cluster analysis

(c) Morphometric analysis (d) Microscopic analysis
Codes :

(1) (a), (b) and (d) are correct. (2) (b), (c) and (d) are correct.
(3) (a), (b) and (c) are correct. (4) (a), (c) and (d) are correct.

Paper-111 10 J-07-16



26.

27.

28.

29.

30.

1 & ¥ BB I T TH.TH. Hife J fogt € 2 9 5T T e % e )
(a) NS U HiFel 31 5

(b) e Us FEEE T § T ATE sy e

(c) = fafeeT o gHfeuse Sfear

(d) woeR Ug Q= & e

%
(D) (), () IR () WE | (@) (a), (b), (c) M () FEAE |
(3) (), (b) 3R (d) W€ | 4) (a), (c) 3% (d) WETE |

ST Gt § ferate % foIu el ured s o - @ alieh Teiterd € 2 Jr KT T % @5
TN T

(a) T foeme (b) RS faaE

(c) e foame (d) 3R (TetuE=) faare
HT:

(1) et (a) 71 (b) TN T | (2) FHaA (a), (b) T (c) WETE |
(3)  (a), (b), (c) T (d) W E | (4) FHaA (a) TAT (d) TEE |

AN TRTTaeh TIeT o 3Ta0T 3 foTT Wet Ui o & 2 e o el | Tel 3T H 99T H |
(a) <IaIeTe ST IR

(b) U= FAETOT

(c) e =g

(d) T I

% :

1) (a), (b) 3R (c) WEE | (@) (b), (c) 3R (d) W& |

3) (a), (¢) 3R (d) WEE | @) (a), (d) 3R (b) WEE |

RIceersh A fo=i § 57 § | i QeIeT S a1l el € ? H BT AT
(a) eAfafaemer wemt T T

(b) Toara =1 faemr

(C) YR & SSIRI H uFhT

(d) TR Sl IHATT

&

(1) (a) 3T (b) TE T | (2) (c) 3R (d) W& |
(3) (a) 3 (c) W T | (4) (a) 3T (d) T E |
SAISTRT o MRETIeh STehe0T bl b il Uil Teieh & 2 e bl el § Tl ST ol o o
(a) @i 3R fereroy (b) TR TATATH

(c) TIRHCH TATATTH (d) wTSShIEhRITe T
FE :

(1) (a), (b) 3R (d) WEAE | @) (b), () R (d) WEIE |
()  (a), (b) ¥R (c) WEIE | 4 (a), (c) 3R (d) WHE |
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31.

32.

33.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Natural selection proceeds only when individuals within a population
vary.

Reason (R) : Mutation and recombination are the major sources of variation in
population.

In the context of the above two statements which one of the following is correct ?
Codes :

(1) (A)is true and (R) is not true.

(2) (A)isfalse and (R) is true.

(3) (A)is false and (R) is also false.

(4) (A)istrue and (R) is also true.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Duffy blood group allele is completely absent in Africa.

Reason (R) : Duffy blood group is being used to know the admixture rate in USA
population.

In the context of the above two statements which one of the following is correct ?
Codes :

(1) (A)istrue and (R) is not true.

(2) (A)isfalse and (R) is true.

(3) (A)is false and (R) is also false.

(4) (A)istrue and (R) is also true.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : The increase in life expectancy and the shift from infectious to non-
infectious diseases as the primary cause of death are a feature of the
epidemiologic transition.

Reason (R) : According to the model developed by Omran (1977) a pretransition
population has high death rates, particularly because of epidemics of
childhood infectious disease. As public health, sanitation and medical
technologies improve, epidemics become less frequent and less intense.

In the context of the above two statements which one of the following is correct ?
Codes :

(1) (A)istrue and (R) is false.

(2) (A)is false and (R) is true.

(3) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).
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34.

35.

36.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Kwashiorkor is one form of malnutrition.

Reason (R) : Itis caused by the deficiency of proteins and not calories.

In the context of the above two statements which one of the following is correct ?
Codes :

(1) (A)is true and (R) is not true.

(2) (A)isfalse and (R) is true.

(3) (A)is false and (R) is also false.

(4) (A)istrue and (R) is also true.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Mitochondrial DNA is only transmitted through the maternal line and
does not undergo recombination.

Reason (R) : “Mitochondrial Eve” is a woman who is postulated to have lived about
2,00,000 years ago, probably in Africa.

In the context of the above two statements which one of the following is correct ?
Codes :

(1) (A)is true and (R) is not true.

(2) (A)isfalse and (R) is true.

(3) (A)isfalse and (R) is also false.

(4) (A)istrue and (R) is also true.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : An exception to the segregation principle occurs when homologous
chromosomes fail to separate during meiosis, a condition termed non
disjunction.

Reason (R) : Non disjunction of chromosome 21 is a major cause of down syndrome,
and sex chromosome aneuploidy has resulted in such conditions as XO
(Turner female), XXY (Klinefelter male)

In the context of the above two statements which one of the following is correct ?
Codes :

(1) (A)istrue and (R) is false.

(2) (A)is false and (R) is true.

(3) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(4) Both (A) and (R) are true, and (R) is the correct explanation of (A).
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37.

38.

39.

40.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : In the history of diffusionism, ‘Pan-Egyptology’ was the last to appear
and first to disappear.

Reason (R) : Elliot Smith and W.J. Perry were both overwhelmed by the grandeur of
ancient Egyptian civilisation.

In the context of the above two statements which one of the following is correct ?
Codes :

(1) (A)is true and (R) is not true. (2) (A)is false and (R) is true.

(3) (A)isfalseand (R) is also false.  (4) (A) istrue and (R) is also true.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Agricultural life, as opposed to hunting-gathering life, may favour
extended families among agriculturists.

Reason (R) : The need for mobility in hunting gathering societies may make it difficult
to maintain extended family households.

In the context of the above two statements which one of the following is correct ?
Codes :

(1) (A)istrue and (R) is not true. (2) (A)is false and (R) is true.

(3) (A)isfalseand (R) isalso false. (4) (A)istrue and (R) is also true.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Franz Boas is considered as “Anti-evolutionist’.

Reason (R) : Boas rejected the ‘conjectural history’ of the 19" century evolutionists;
instead stressed upon the “actual history of the group under study’.

In the context of the above two statements which one of the following is correct ?
Codes :

(1) (A)istrue and (R) is not true. (2) (A)is false and (R) is true.

(3) (A)isfalseand (R) is also false.  (4) (A) istrue and (R) is also true.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Evans-Pritchard suggested to substitute the term ‘Bride-Price’ with
‘Bride-Wealth’.

Reason (R) : The term ‘Price’ involves economic connotation that ‘Price is fixed at the
equilibrium point of demand and supply of a commodity’.

In the context of the above two statements which one of the following is correct ?
Codes :

(1) (A)istrue and (R) is not true. (2) (A)isfalse and (R) is true.

(3) (A)isfalseand (R) isalso false. (4) (A)istrue and (R) is also true.
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41.

42.

43.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : National character studies give rise to the “Study of culture at a
Distance”.

Reason (R) : Because those engaged in such studies did not go to conduct fieldwork in
the ‘enemy nations’, therefore, largely depended upon secondary sources
of data alone.

In the context of the above two statements which one of the following is correct ?
Codes :

(1) (A)is true and (R) is not true.

(2) (A)is false and (R) is true.

(3) (A)is false and (R) is also false.

(4) (A)istrue and (R) is also true.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Margaret Mead studied the samoans with special focus on the process of
socialisation of samoans in early childhood.

Reason (R) : The reason for her study of Samoans was to prove that stress and strain
among the American youth in the 1920s was due to social and cultural
reasons, not biological.

In the context of the above two statements which one of the following is correct ?
Codes :

(1) (A)istrue and (R) is not true.

(2) (A)isfalse and (R) is true.

(3) (A)isfalse and (R) is also false.

(4) (A)istrue and (R) is also true.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Cultural Resource Management (CRM) provides option for protection of
Archaeological sites.

Reason (R) : Action Archaeology involves working closely with the community.
In the context of the above two statements which one of the following is correct ?
Codes :

(1) (A)istrue and (R) is false.

(2) (A)is false and (R) is true.

(3) Both (A) and (R) are true and (R) is correct explanation of (A)

(4) Both (A) and (R) are true but (R) is not correct explanation of (A).
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44,

45.

46.

47.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Maglemosean culture in Western Europe developed in response to
growth of forest.

Reason (R) : Dynamicity of ecology is marked during post Pleistocene in Europe.
In the context of the above two statements which one of the following is correct ?
Codes :

(1) (A)is true but (R) is false.

(2) (A)isfalse and (R) is true.

(3) Both (A) and (R) are true but (R) is not correct explanation for (A).

(4) Both (A) and (R) are true and (R) is correct explanation for (A).

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Articulated speech is a product of bipedalism in man.

Reason (R) : Standardization of tool types is related to verbal communication.
In the context of the above two statements which one of the following is correct ?
Codes :

(1) (A)istrue and (R) is false.

(2) (A)isfalse and (R) is true.

(3) (A)isfalse and (R) is also false.

(4) (A)istrue and (R) is also true.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Osteodontokeratic was the first man made industry of bone, teeth and
horn.

Reason (R) : This was proved wrong with the advent of speliology.

In the context of the above two statements which one of the following is correct ?
Codes :

(1) (A)istrue and (R) is not true.

(2) (A)is false and (R) is true.

(3) (A)isfalse and (R) is also false.

(4) (A)istrue and (R) is also true.

Arrange the following anatomical landmarks on human face in correct order from hair line
to chin :

(1) Gnathion — Nasion — Glabella — Pronasale — Stomion
(2) Glabella — Nasion — Pronasale — Stomion — Gnathion
(3) Stomion — Pronasale — Nasion — Glabella — Gnathion
(4) Nasion — Glabella — Stomion — Pronasale — Gnathion
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48.

49.

50.

51.

Arrange the development of methodologies for cytogenetics in chronological order. Use
the codes given :

(@  Fluorescent in-situ hybridization (FISH)

(b) Comparative genomic hybridization (CGH)
() Reliable methods for chromosome preparation
(d) Giemsa chromosome banding

Codes :

(1) (b), (c), (d), (a)

2 (c), (d), (@), (b)

(3) (d), (c), (d), (a)

(4) (a), (d), (c). (b)

Identify the correct sequence of following fossils in the descending order of their
discovery :

(1) Proconsul — Ramapithecus — Dryopithecus — Australopithecus
(2) Ramapithecus — Proconsul — Australopithecus — Dryopithecus
(3) Dryopithecus — Ramapithecus — Proconsul — Australopithecus
(4) Proconsul — Ramapithecus — Australopithecus — Dryopithecus

Identify the correct sequence of the following landmark developments in ascending order.
Use the codes given :

(@) Nei’s Genetic Distance

(b) Genetic Polymorphism concept
(c) Inborn Errors of metabolism
(d) Human Genome Project begins

Codes :
(1) (@), (b), (d), (c) (2) (c), (b), (a), (d)
(3) (d), (c), (b), (@ 4) (b), (a), (c), (d)

Arrange the following books in ascending order according to the year of first publication.
Use the given codes :

(@ The Mismeasures of man — Stephan Gould

(b) The Chimpanzee of Gombe — Jane Goodall

(c) The Genetics of Human populations — Cavalli-Sforza and W.F. Bodmer
(d) The origin of Races — C.S. Coon

Codes :
(1) (@), (c), (d), (b) (2) (b), (d), (), ()
(3) (c), (), (b), (d) (4) (d), (c), (a), (b)
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49.

50.
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52.

53.

54.

55.

Identify the correct chronological sequence of the following tribal movements/revolts. Use
the codes :

(@ Kolhan Movement (undivided Bihar)

(b) Worli Revolt (Maharashtra)

(c) Bhil revolt (Gujarat) under the leadership of Bhagoji Naik and Kajar Singh
(d) Revolt of Syntengs of Jaintia Hills

Codes :

(1) (c), (d), (0), (a)

2 (c), (d). (a). (b)

(3) (c), (a), (d), (b)

(4) (a), (b), (c). (d)

Identify the correct sequence of evolution of family/marriage as given by L.H. Morgan.
(1) Promiscuous — Punaluan — Syndasmian — Matriarchy — Monogamy
(2) Punaluan — Promiscuous — Syndasmian — Matriarchy — Monogamy
(3) Syndasmian — Promiscuous — Punaluan — Monogamy — Matriarchy
(4) Promiscuous — Syndasmian — Punaluan — Matriarchy — Monogamy

Arrange the concepts/ approaches in chronological order as they appeared in the history of

Anthropology.

(1) Psychic unity of mankind — Patterns of culture — Study of culture at a distance —
Emic and Etic approach

(2) Patterns of culture — Study of culture at a distance — Emic and Etic approach —
Psychic unity of mankind

(3) Study of culture at a distance — Psychic unity of mankind — Patterns of culture —
Emic and Etic approach

(4) Patterns of culture — Emic and Etic approach — Psychic unity of mankind — Study
of culture at a distance

Arrange the fieldworks conducted by the following anthropologists in chronological order.
Use the codes given below :

(@) Malinowski’s fieldwork in Trobriand Islanders
(b) Radcliffe-Brown’s fieldwork among Andamanese
(c) W.H.R. River’s fieldwork in Torres strait

(d) Evans-Pritchard’s fieldwork in Nuer

Codes :

(1) (@), (b), (c). (d)

2 (c), (b), (a). (d)

@)  (c), (b). (d), (a)

(4) (c), (a), (b), (d)
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52. freAfcifad sniqardr Tieieri/ fasTel o HIeTshe % Tal AT i Ted L | e HT TN Y :

(a)
(b)
(©)
(d)
ETE
(1)
)
©)
(4)

HITE TR (e foer)

el fofsTe (FeRTg)

T 58 (ToIId) AT T5eh 3 R 48 o g §
S feot & faeT =1 fosie

(), (), (b), (a)
(), (d), (a), (b)
(), (a), (d), (b)
(a), (b), (), (d)

53. faame/aiEr & foema & HEl 59 Sl TerET H

1)
2
3)
(4)

T3 — YA — Meiaga — dfearnt — e
T3 — UTHRe™ —  faeiiarsm — dfgament — A
feifama — mfaeper — eI  — AT — dfear
TEpsTd — e — T  — Afameh — AT

54. H o= & 2der™ | = TaumRonei/SunTdi & YheT § 37 & Hietshd 1 &l GaisTT i a1

g9
1)

(2)
(3)

(4)

AT ARCTSh Sl TIETAT —> Fhidh UdTH — T Hl el T — s g
Tfesh U

G AFHA — TEhid T T 7T — U U Ul SUNTH — A s i
BT

T 1 AT 3T — AT AR i GHEIA — FRHIdh AqHH — U U Ulesh
Evit|

R TH A — THS U8 Uiesh SUNTH — AT ARGTSh Sl THEIAT — GHid I geadr
T

55. {7 e fasniat o & B T 3% Tel HIAER A S | H H TET B

(@)
(b)
(©
(d)
FE :
@)
2
3)
(4)

J-07-16

ZifeiE aTgeie W AicTIeh! Sl &=
TS H YSTRA® SIS o &5

2R T H =g T AR, o 7 errebrey
I ° 3ag e o e

(), (b), (), (d)
(), (b), (a), (d)
(), (b), (d), (a)
(), (a), (b), (d)
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56. Arrange the following commissions/committees on Tribal Development as per their years
of constitution. Use the codes given below :

(@ Committee on special multipurpose tribal blocks
(b) Committee on tribal economy in forest areas

(c) Committee on forest and tribals in India

(d) Task force on Development of Tribal areas

Codes :
(1) (@), (b), (d), (c) (2) (a), (b), (c), (d)
(3) (b), (a), (d), (c) (4) (d), (c), (b), (a)

57. Arrange the following names in sequential order for conducting excavation of
Mohenjodaro. Use codes :

(@ Wheeler

(b) Mackay

(c) Marshall

(d) Dales

Codes :

(1) (c), (@), (b), (d) 2 (a), (b), (c), (d)
(3) (d), (a), (c), (b) (4) (c), (b), (a), (d)

58. Arrange the following pluvials in proper sequence of occurrence from early to later.
(1) Gamblian — Kageran — Kanjeran — Kamasian
(2) Kageran —» Gamblian — Kanjeran — Kamasian
(3) Kageran —» Kamasian — Kanjeran — Gamblian
(4) Kanjeran —» Kamasian — Gamblian — Kageran

59. Match the following List — I with List — I1. Use the codes given below :

List— 1 List—11
a. A trait that has not changed from an i Derived trait
ancestral state.
b.  Tracing evolutionary relationship between ii.  Evolutionary systematic
organisms based on shared derwed traits.
c. A school of thought that stresses the  iii.  Primitive trait

overall similarity of all homologous traits
in classification.

d. A trait that has changed from an ancestral  iv.  Cladistics

state.
Codes :

a b ¢ d
@ i i i v
(2) i v i i
(3) iv i i ii
(4) ii iiv i
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56.

57.

58.

59.

aTigard fasr & fow Tied =1 SanT/ataiaa & e o oy % UK 3% Tal v H Fared
L | S T UATT FY

(a) Tafere sgseema snfcardr el & fore |rafa

(b) = & H aigaT ST W A

(c) NG H A Ua fsetet o¥ AiHtd

(d) 3Tfcardr &=t % fas | F 3o

F
D) (), (b), (d), (c) (2) (a), (b), (), (d)
3) (), (a), (d), (c) 4) (d), (c), (b), (a)

et A S Himsiicel & S & 98y H Wel 9 § Jad | e Dl Tl o Gl 3T A
T HY

(a) TR

(b) %

(c) ™™

(d) =ou

&

(1) (0), (a), (b), (d) (2) (a), (b), (c), (d)

) (d), (a), (), (b) (4)  (c), (b), (2), (d)

=1 wfageq & gfed 8 & 93y H 39% U9 ¥ 3T I 5T Tel 1 & ?
(1) T — FERA — FHoRA —> FATIIA
(2) FHIRA — AT —> HIORA —> HHTGA
(3) HERA — FHITGIT — HiSRA —> Tieeraq

(4) HERA — FHMFI — Aot — FORA

fepfefiaa gt — | % few 8 TR @ g - || F R F o gt S | e R T e @
ST T

= - | = - 1
a. O T, ST U ST feta ¥ uRafad e gen e | Q. W o
b. TS U TUT-3MRe Sial o s [aehrdia 9ae B ji.  forehra afiehor fosm
Qs
c. TUoH = 9 UR, ST O § W GHEH! O i, SneH o7

HHY GHET WS ol ¢ |
d. a8 T, ST U e fedfd @ uiEtad gen € | iv. Ffefesg
H
a b c d
@ i Qi i v
@ i v i
@ iv @i i
@ i i v i
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60. Match the following List — I with List — Il. Use the codes given below :

List— 1|
a.  Independent evolution of traits
in closely related species.

b.  Similarity due to descent from
a common ancestor

c.  Structures possessed by
different organisms that are
similar due to similar function;
without sharing a common
developmental pathway

d.  Independent evolution of
similar  traits in  distinct
evolutionary lines

Codes :

a b ¢ d
@ ii i v
(2 i i i v
(3) iv [ i dii
(4) iii iiv i

61. Match the following List — I with List — Il. Use the codes given below :

List— 11
i. Homology

ii.  Convergent evolution

iii. Parallel Evolution

iv. Analogy

List—1 List— 11

a.  Sum total of genes in a population i. Eugenics
b.  Improvement of human race ii.  Euphenics
c.  Phenotypic improvement of humans  iii.  Gene pool

after birth.
d.  Increase in homozygosity iv.  Consanguinity
Codes :

a b ¢ d
@ i i v i
(2) iii [ v
(3) i i v
4) i iiv i
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60. Fr=feifiaa get — | & f5w 7€ w&i B gE — 11 B 6El o Qi Gl Hie | A [T T % w5

TR ST
=i - |
a. [7ohe & | TSI WIS | TOT 1 &cd [ ]

b. TR YIS ¥ Wi & HROT FHA .

c. T Sfar o west aret o, S TRl Wi foehe AN % i

=T TH AT o HRO THE € |

d. fafere fosm Sdr & 99= 7o %1 W@oa e iv.
FT
a b ¢ d
@ @i i i v
@) i i i v
@) iv i i i
(4) i ioiv i

=it - 1
ST (FTATATSTT)
AR ferepa

CREECACIGNE)

TR T

TG (TATATSI)

61. Fr=foifiaa get — | & f5w 7€ w&i B gEl — 1] B §Ei o Qi Gt Hie | A [T T % w5

F@"Tﬁf@f@:

= - | = - 1
a. STEEN H S P I i g o
b. AFE WS H FER ii. gHFE

C. STH o o1E Hel Sl SHRTE [ohre jii. ST g
d. HEGTESA @S § gy v, A

@ i @i v

@ i i i v
@) 0 i i v
@ i i v i
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62. Match the following List — I with List — Il. Use the codes given below :
List—1 List— 11

a.  Protein deficiency i Marasmus

b.  Protein and calorie deficiency ii.  Goitre

c.  Vitamin D deficiency iii.  Kwashiorkor

d.  lodine deficiency iv. Ricketts

Codes :

a b ¢ d

@) ii R T \Y,

2 v i i i

(3) i ioiv i

4) i i ivo i

63. Match the following List — I with List — Il. Use the codes given below :
List—1 List— 11

a.  Blood group typing of dried blood strins I.  Amylase test

b.  Semen identification ii.  Ninhydrin method

c.  Saliva identification iii.  Absorption-elution technique

d.  Latent fingerprints development iv.  Acid phosphates test

Codes :

a b ¢ d

@ i v i

2 i ivoi i

3) i i v

4) v i i i

64. Match the following List — I with List — I1. Use the codes given below :
List—1 List— 11

a.  Ethnocentrism  i. The attitude that other society’s customs and ideas
are judges in the context of one’s own culture.

b.  Structuralism ii.  The borrowing by one society of a cultural trait
belonging to another society as the result of contact
between the two societies.

c.  Diffusion lii. The theoretical orientation that assumes that all
culture traits serve some useful function in the
society in which they occur

d.  Functionalism iv. The theoretical orientation that human culture is a
surface representation of the underlying structure of
the human mind.

Codes :

a b ¢ d

@ i iv i i

2 i v i il

3) i v il

4 i i v
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62.

63.

64.

ferferfiae et — | § fw T wet @ gE — 11 F % A gafed $i | e R g @
TG ST
Tt - | Tt — 11
IS ot T i TR (g )
WIS 3T Hell B A i, TTowie (TR
Tt <f bl et iii. TR
TS & iv. Topeg

<

e o o

T4

a b c d
@ ii i i v
2 v i i i
(3) iii i iv i
4) i v i

fepfefiaa gt — | % few 8 TR @ g - || F R F o gt S | e R T e @
ST T
Tt - | Tt - 11

a. g@m%ﬁﬁma&%ﬁw i e e
b. & = wEEH ii. TRt s
C.
d.

AR &l Tga= iii.  STITNIOT g THID
el & fist gu Fremel 1 goawm ST jv. ufe TS wieon
%< :
a b ¢ d
@ i v i
@ @i v i i
@) i i i v
@ v i i i

AT — | B A B G — || G e Y | $ B TerEdT F Gel SR B 9T Y|
el - | = - 11

a. A EgaE i ST IS 37U Wi ST 9 e 3E TSt st et ae
e =T Foieht YT & |

b, WEAER ii. IS % R YU & RS STe g U GHIS T
ST ot Wik fafeTsedmd 8T el § |

c. TR iii. I Ygifae ardn, e SaR 9 Fiepiae fafmeant 39 a9
H ST T IS ST 1 HAT 8, STad o 918 ST §

d. veEER iv. 9% Sifde T, e S aR 9Fe Sehd AHd Jiash & fiae

fHfed GTamT ot amed tfiveafo & |
B
a b c d
Q) i v i i
@ i v i il
@) i i v il
4) i i v
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65. Match the following List — I with List — Il. Use the codes given below :

List—1

a. Give and take of goods and
services without any intention
of immediate return by the
parties involved.

b. Goods and services are first
brought to an allocated centre
and then redistributed

c. Give and take of goods and
services through a medium of
exchange, (generally currency).

d.  Indirect give and take of goods
and services by two parties
without having any verbal
communication

Codes :

a b ¢ d

Q) iv i i i

2 v i i ii

3) i i v

4) iioavi ii

List - 11
Silent trade

Market exchange

Redistributive exchange

Reciprocal exchange

66. Match the following List — I with List — Il. Use the codes given below :

List—1
a.  Symbolic Anthropology
b.  Feminist Anthropology
c Legal Anthropology
d Gay Anthropology
Codes :

a b ¢ d
Q) i i i v
(2 i iiv il
(3) i 1T TR1Y;
4) i i 0 v
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65. g — | St T 1 g — || § e Y | Fe Sl Gerdar ¥ Hel TR 1 a9 B |

= - |

= - 1

for fordlt @R TRt 3TehieT o Uell & o9 ol i, Ho AWK

X TAT VAT T Tgel Ueh SN bk W THAHOT i, SR fafma

faf & Tl ATead gRT (WM HRT) aegen ua garet i, qAtaeRoT [t ea

fomr ferdlt Tiftger Hare & <1 uell & o ogelt ud deneti jv.  URENe fatea

i TS AT H AR
> T fRY AT
C.

T AT
d.

T I TAIA
%

a b ¢ d
Q) iv @i i
@) iv @i i
@) i Qi i v
@ i ivooi i

66. T — | B TN B G — || F AR B | B B FEdT ¥ Tel SR B T B |

a.
b.
C.
d

LA

(1)
(2)
(3)

(4)
J-07-16

e - |

e Gl

et
AT TS
& Gt

= - 1

g
fergter TraTee

et ge
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67. Match the following List — I with List — Il. Use the codes given below :

List—1 List— 11

a. Koya Revolt I. Chhattisgarh
b.  Rajmohini Devi Movement ii.  Chhotanagpur region
c.  Birsa movement iii.  North-East region
d.  Zeliangrong movement iv.  Andhra Pradesh
Codes :

a b ¢ d
1) iv [ i il
2 i iv i il
3) i v il
4) i i v

68. Match the following List — I with List — Il. Use the codes given below :

List — |

a. Amitalocal

b. Avunculocal

C. Bilocal

d. Neolocal

Codes :
a
@ i
(2) iv
(3) iv
4) iv

List—11
After marriage, the couples living with
wife’s mother’s brother.
After marriage, the couples periodically
living with each others’ parents.
After marriage, the couples living together
but in a new house
After marriage, the couples living with
husband’s father’s sister.

69. Match the following List — I with List — Il. Use the codes given below :

oo oo

Codes :
a
@ i
(2) iii
(3) ii
4) iv
Paper-I111

List — |

(Terminologies)
Taphonomy
Bio-archaeology
Social evolution
. Multivariate procedure

List— 11
(Related matters)
i Health and life style
ii.  Statistics
iii.  Formative process
iv.  Marxism
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67.

68.

69.

gt — | & | B g — 1 G e B | $e A TEEdT W ST A T4

=it - | =it - 1
a. A fOsE i SOETE
b. TSI Jot 3R i, BREFNR &
c. foRam em=ie iii. ST &
d. SR sr<en iv. STy IR
T
a b ¢ d

@ v Qi i
@ i v i i
@) i Qi v i
@ i Qi i v

AT — | B T B g — || G e Y | $ B TeEdT  Gel SR B 9T Y
= - | = - 1
a. UMEelse i, foomw o 15 Ul 1 U bt /Y o TS o HqIY B
b. TEAPe®A i, g & g U 1 TS T T TH-3E o HIAT-0aT o Qqrey 1
c. dTEcAhe iii. o & o1 Sudt 1 W T, AT U H
d. Facea v, fgaw & 9% Sue & atd & I S 98 o 9 @
a b

@ i i Qi v
@ v i Qi i
@) iv i i i
@ v i Qi

el — | 5w e HeT W g — || i Rl o wrey gafea it | e KT T e W T i

=i - | =t - 1
HEC ) (Heifere fawa)
a.  JHAM i, e ud e el
b. Sifes WA ii. Wit
c. WIS faehr iii. TS usia
d. TRRue ugid iv. e
- T
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70. Match the following List — I with List — Il. Use the codes given below :

List—1 List— 11
(Authors) (Names of Books)

a Kevin Greene I. Piecing together the past
b.  Bridget and Raymond Alichin ii.  Indus valley civilization
c Sir Mortimer Wheeler iii.  Archaeology : An Introduction
d.  V.G. Childe iv.  The birth of Indian civilization
Codes :

a b ¢ d
@ i i v
(2) i v i i
(3) @i i i v
4) iv P i

Read the following text and chose/pick the correct answer of each of the following questions :
Q. Nos. 71 - 75)

Development of fieldwork tradition in anthropology is very much conterminous with the rise of
anthropological theories in the discipline. Barring a few exceptions, such as Edward Burnett Tylor
and Lewis Henry Morgan, none of the 19" Century anthropologists had any experience of the
field. Tylor had visited Mexico, and Morgan had intimacy with the lroquois Indians; as the
Iroquois lived in the neighborhoods of Morgan. Morgan had also organized a Club named ‘Grand
Order of Iroquois’, which was dedicated to the collection and preservation of ethnographic
information on the Iroquois. About James Frazer, it is said that he wrote every day for forty years
something or other on the so called ‘savage people.” Once he was asked whether he had ever seen
a ‘savage’. He replied, "God forbid; and added that he hadn’t ever done, and wouldn’t ever like to
see any savage." Ironically, all the volumes written by him, chiefly deal with the so called *savage
man and savage mind’. Whereas Tylor is considered as the first anthropologist to have applied
‘statistics” in the interpretation of ‘couvade’; Morgan was the first to apply ‘questionnaire’ in
ethnographic research. He prepared a huge questionnaire relating to information regarding family,
marriage and kinship, and got it distributed through the American Diplomatic Channel throughout
the world, including India. It is known as ‘Morgan’s Circular of 1862.” His second book,
‘Consanguinity and Affinity in Human Society’ that appeared in 1865 is based upon the response
of the Circular that he obtained from throughout the world. The seeds of the study of
‘classificatory’ and ‘descriptive’ kinship terminology were sown in this book. A subtle
examination of the history of anthropological thoughts indicates that development of new
concepts and theories in the discipline has been largely because of the gradual improvement of
fieldwork tradition in the discipline.
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70. g — | H f3U M€ 7]T W GE - || B 681 % Qe GAE SIS | e ST T e S TEhT S

= - | = - 1

(FiE) (T&TehT o =)
a. e U= i T TR T U
b. fomie wd YHs ufea ii. 3= oot fafaamestem
c. W HIEER dierk iii. SmihAAST ; U S2ieaH
d. otSh. =mEes iv. T Y 3 Sfea fafaaesed
FT :

a b ¢ d

A i Qi i v
@ Qi v i
@ Qi i i v
@ v i Qi i

-~

&1 U 7T 30T il U TAT T9eh 3R T (=TeiRad Farell o Fel Sa¥ ¥ F9 o

. |, 71 - 75)

S fosT= & & S S Wl A 9 Hh 88 I 39 T § A fos det fagiar & e 9
SIS g7 € | USaE a-e 2FeR 31X oifad R0 AN S $8 3TaTR] i BIgay, 1991 T&t & 9 fomar ot
AT TR 0 & FEF B B Of SIS @ AT | TEeR Wil T F S AW 1 AT W
T & 1Y o, TP HT U & TSI H ®d & | A0 7 ‘U 3T 3MF THhT 99 9 Th Fold
off ST o, ST R o JSNT SUi Heelt GETS o Geho 37X FREI0T i FHIUT o1 | AT ol o I |
FeT ST & fob 98 Sk AFal” o aR | 40 T6T q ISTAT 8 7 $S fofadT T | T 9K 399 98T 747 6
F 3T FHHT TR AT Bl @ & | ST e, WA S0 | SR R Farn T 9% i 95 qea 9
et & o 7 & wfosr 5 oft frerr = | fodem € o6 sae ST off qeashs forat €, 3 g7 ®9 9 9%
A 3T F6 Ok § & Fafdd &, STafch 2IFe ol Ugel UhT Ae fas=r 9uen S &, 5= ‘pag” &t
T HifeTsh! Sl TEEE 61 | AW Joiid [garer & folt geAmeet & vaiT e el 9gell
faamT o | 3T URER, foarE 3R AR o STHHRI & [T U Tell Te-mEel dar i 3 38 SR
TS AT §RT YR Aied I3 A1 § Seamdr | 38 A H 1862 N GHoi” ff FET ST & | S
T JAF “HRARMR U UEHE 3 gHA |, S 1865 H WSV g8, S9! UeAEet % 3MER W
R AT T UGS U SR © | ‘AR’ A TR SR KA & 3T & ST gl
TETh H U | HFE O o (e 1 GeH 3T 98 Sl § 1 39 I § A% SFauRonst 3R fagrar
1 eI A1 A W 39 9 H &8 1 S W | i 9Tt shideh (oo T STeT g7 € |
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71.

72.

73.

74.

75.

Did the 19™ Century evolutionists take the help of fieldwork in anthropology ?
(1) They believed fieldwork was not necessary in anthropology..

(2) Except Tylor and Morgan, no one did fieldwork.

(3) They completely depended upon fieldwork

(4) Their works were partly based upon fieldwork, and partly not.

How did Morgan come in contact with the Iroquois ?
(1) Iroquois lived in his neighborhood.

(2) He often visited the Iroquois areas for games
(3) He was introduced by some politician

(4) Troquois were the most literate people of all Indians.

What was the name of the Club that Morgan established ?
(1) Grand Order of the Savage

(2) Grand Order of the Primitives

(3) Grand Order of Iroquois

(4) Grand Order of Couvade

Did James Frazer like the so called ‘savage people ?’

(1) He very much appreciated and liked them.

(2) He liked them and became the champion of their cause.
(3) He liked them because he had intimate contact with them.

(4) He had never seen them and did not like to meet and see them ever.

How did Morgan manage to distribute his Circular throughout the world?
(1) Through mail

(2) Through Courier

(3) Through Diplomatic Channel of U.S.A.

(4) He personally went and distributed
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71.

72.

73.

74.

75.

T 1990 T3I o I3R! AT | &3 1t Teraam ot & 2
(1) SR AT o fof OHa-TaR &1 1 a1 3Teashal el ¢ |

(2) TR 3R AR i BIEeh 3R fHEl 7 &7 Hrd Fé foha |

() AW TEH &I FA WD G |

(4) TR FE SIE T F & FEF W R A7 3T ST T 9 |

O 6T o T H g 37T 2

(1) =59 396 IS § T & |

(2) o RTPR & o0 T & H 31T ST i & |
(3) T© TSI ERT 3¢ U= FHET T o |

(4) ol IRAE § Wy Fed ge ol e & |

AN F 59 FoTa B ST S e, ST AT /T AT 2
(1) 7 e 3 § FasT

(2) wie 3iieT 3 T Hifafesq

(3) TiE 3iiET 3T THhd

(4) TiE 3iiET 3 Fag

AT ST Tl AATHIAT ‘T AT 3T THG BT T 2

(1) o 37k =g AU URiEeh & U 3¢ 0 o & |

(2) T 3= TE HIAT AT 3 AR e 1 FemmEd or |

(3) oE 3% UNT HIAT AT, FAIh SR 39 3TATT Hae o7 |
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AEH 310 YA (Feher) T 3T § % fstae 2
(1) =wIa

(2) TR EN
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